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37 HIXK 5, 278. 64 Vi T8l 45 P USCHE B K ATE S I H 7 HEE 7
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41 L 5, 009. 49 Vi T8 b B 45 P USCHE B K ATE S I H 7 HER 7
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124 FERI 5,216. 07 T TRl B 45 U B K ATE T I H 7 HEE P
125 A 5,207. 13 T TR = 4 USCH B K OARTE T T H 35 BEE 7%
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128 THLN 4, 647. 10 Vi I = 35 T USE KRS ST H 7 BER 2%
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169 WRAK TR 6, 141. 47 T8 A =5 ISR BKARTE e T H 5 /5 BHIR 2%
170 KK B 5, 480. 45 T TRl B 45 U B K ATE T I H 7 HEE P
171 Syilg ik 5,233. 95 Vi 18 b F 45 Y K ATE ST H & 75 2R 2%
172 ERARTA 5, 232. 27 T TRl B 45 U B K ATE T I H 7 HEE P
173 R 4, 681. 54 VA 18 HE A YSE BKORIE eI H 5 70 2R 2
174 il 5,133.65 Vi 8l = HE P YSCE K ATE ST H 7 BB 2
175 AR FEE 6, 070. 71 Vi 8l 45 USCHE B K AT ST H & 7 HEE 7
176 g3 2,283, 27 Vi I = 35 T USE KRS ST H 7 BER 2%
177 4E 5, 214. 34 Vi b 45 USCHE B K AT ST H &7 HEE 7
178 Ty FH 18, 521. 89 Vi 18 b 3 45 U K ATE ST H & 70 B P
179 g 1E3C 5,100. 31 T8 A = 45 T ISR BKOARTE e T H 5 /5 BHR 2%
180 e 4, 683. 32 T 1l = 3 s BTG HE 0 H 8 75 HR 9%
181 HAK K 5,187. 44 Vi T8l 45 P USCHE B K ATE S I H 7 HEE 7
182 el 5,151. 58 Vi TR = 4 T WSO B KRS e 00 H 5 76 3R 9
183 5K 5,251. 82 V& H b FHE U KRS eI H & 75 2R 2
184 G191 6, 171.79 T 1l =3 A WE B KATE HE 0 H 8 /5 BR 9%
185 5K B 5, 100. 32 V& 8l FHE U B KARTE eI H &7 2R 2
186 SR BT 5,772. 54 Vi TR = 3 WSO B K AT AR 00 H 5 70 3R 9
187 Bl 4,716.76 Vi T8l 45 P USCHE B K ATE ST H 7 HEE P
188 SR 4k 7R 4, 910. 50 Vi 18 b 5 A IS B KRS S0 H &5 70 350R 7%
189 SR 5,207. 13 VA b FHE USRI KARTE ST H &7 PR 2
190 5 7 7k 6, 100. 95 VA Il =4 A U BIKARIG R 100 B 5 70 30R 7
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193 5K tH B 5, 336. 18 T8 A =5 ISR BKARTE e T H 5 /5 BHIR 2%
194 Bk 12, 984. 14 Vi T = 45 T USCHR B K OARTE A 0 H 0 BER 2%
195 5K % 5,010. 32 T TR = 4 USCH B K OARTE T T H 35 BEE 7%
196 skt 5,814. 10 T TRl B 45 U B K ATE T I H 7 HEE P
197 1 o 4,910. 50 VA 18 HE A YSE BKORIE eI H 5 70 2R 2
198 BRI & 5, 260. 80 Vi I = 35 T USE BKRTE e H 7 BR 2%
199 5K 5, 242. 88 T8 A = 45 T ISR BIK ARG e T H 5 /5 BHR 2%
200 sy 4,768. 65 Vi 8l 2 HE P YSCE K ATE ST H 7 FHR 2
201 A 4 3, 995. 52 Vi 1R 5 AP S B KRS e T H 5 70 2R 2
202 X B 5,214. 33 Vi 8l = HE P YSCE K ATE ST H &7 FHR 2
203 K 6,171.79 T8 A = 45 T ISR BKOARTE e T H 5 /5 BHR 2%
204 SR 5, 187. 44 T 1l = 3 s BTG HE 0 H 8 75 HR 9%
205 JH 3 16, 416. 89 Vi T8l 45 P USCHE B K ATE S I H 7 HEE 7
206 JE T 5,207. 13 Vi TR = 4 T WSO B KRS e 00 H 5 76 3R 9
207 Ji 5 5, 187. 44 Vi T8 b 45 P USCHE B K ATE S 0 H &7 HER 7
208 i3 5, 268. 13 Vi TR = 3 T USCHE B KRS e 00 H 5 76 3R 9
209 Ji/NE 6,111. 15 T 1l 2 5 A YR B KRS AR I H 70 2R 2
210 Ji ek 5,133. 65 Vi 18 b 5 A IS B KRS He i H &5 70 350R 7%
211 Y 6, 131. 36 Vi T8l 45 P USCHE B K ATE ST H 7 HEE P
212 J 322 5 6, 080. 82 Vi TR = 3 A WSO B K AT e 00 H 5 70 380R 9
213 JHIE 6, 040. 60 Vi T8l 45 P USCHE B K ATE ST H 7 HEE P
214 K 4,200. 18 VA Il =4 A U BIKARIG R 100 B 5 70 30R 7
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